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Science
Energy Efficiency Test
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@ A 240 V oven element draws 30 A of current.
@Calculate the energy the element uses if it is cooking a turkey for 4 hours.
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(D If the oven converted 47 065 000 J of that energy into heat, Wi
efficiency of the oven?

47565000
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¢ 2:>A 120 volt light bulb has a current of 0.833A running through it for 60 seconds.
fa) JHow much electrical energy does it use in this time?
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._@ If the light bulb is 8% efficient at converting el€ energy to light energy, how

many joules of energy were actually used to light the room? _ c??
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@ How many joules of energy were lost as heat?

@n electric saw draws 25 A of current while operating on 120 volts. @

t is the power of the saw? P= Ve =(10) ( &)

\Qf the saw is operated for 3 minutes, calculate the energy used.
I (fosw) (F)(W

(Qf the saw is 65% efficient, how much energy is used to turn the blade?
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: outdoor floodlight has a power rating of 250 waits. r :—é - p
£a)Zalculate the current through the bulb if the voltage is 120 volts, \V4 ry:
2.0

@alculate the total energy used by the bulb if it is left on for 12 hours ovemnight,
E=tt < (o) ()6 (6y
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478 kJ of energy into light, what is the energy efficiency of the
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(_QA 25 W compaci fiuorescent light bulb is operating at a voltage of 120 V. / v L
culate the resistance of the bulb?
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@—[ow much electrical energy (in joules) is used if the bulb operates for 8
hours?

E=pt = (i) c8)( 6 ()

\@fthe bulb converted
light bulb?

@f the bulb is 35% efficient, how much energy lights the room?
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6. A projector has a 300 W bulb in it,
a) How much energy does it use when it runs for a 56 minute Science

eriod?
E=rt = (zo¢n)es ,@

b) Ifthe bulb is 14% efficient, how much energy is lost

as heat?
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